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In practice it is more convenient to present y , and y ; thus:

--212 cos ( 600 – $ ) .

% = -2VP co
s ( 60° + 9 ) .

Example 1 . For th
e equation

y
3
– 3
y

+ 1 = 0

we have

P = 1 , co
sø
=

hence , 0 = 120° and

y = 2 co
s

4
0
° , y = – 2 co
s

2
0
° , y
z
= 2 co
s

80° .

Approximate values o
f the roots can b
e

found directly from the trigonometric tables
and are

y
ı
= 1 .5320888862 ,

y
a

= – 1 .8793852416 ,

y
z
= 0 . 3472963554 .

Example 2 . To solve the equation

y
8
– 7
y
– 7 = 0 .

For this equation

p = – 7 , 9 = - 7 , - A = 49

and

ta
n
$ ta
i

Further computation was made with si
x -place tables of logarithms . The calcula

tions and results can be presented a
s follows :

lo
g

2
7

= 1 .431364 lo
g
7 = 0 .845098 lo
g

co
s . = 9 .999128 – 10

log V27 = 0 .715682 log 3 = 0 .477121 0 .485018

lo
g

tan $ = 9 .284318 lo
g

7
3

= 0 .367977 lo
g

y
ı

= 0 .484146

$ = 10°53 ' 36 " . 2 lo
g

V72 = 0 .183988 y
i
= 3 .04892

430 = 3°37 ' 52 " . 0 log 2 = 0 .301030 lo
g

cos 9 .647528 – 1
0

lo
g

2V73 = 0 .485018 0 .485018

lo
g
( - y2 ) = 0 .132546

3 .04892 Y
2

= 1 .35689

= - 1 .35689

lo
g

co
s ( 60
°

– ) = 9 .743387 – 10Y
o = - 1 .69202

0 .00001 0 .485018

lo
g
( - y ) = 0 .228405

– y
3
= 1 .69202


